TG © (I e

FMIEE A0 T MR IR (RIE W EL AT B . LB T 5 M
IR MURER, GRS £ P R ONGLCAR, 5 LR Ak O
SR FLREAIBRBL Gal(E : -) BRSSPy, FL 200 RIS, I ELREER
R — SRS © — b, $E B S TIR P, Bl ek
FILRE CGal(E: F), 82 E iy EEFMEE : Wb, @& E Ly
B P SRR IO RE G, B LR AREIE Fixg(Q), 562 E B8 718k,
b B RGRRLR, (EMIERECISE N, (R SRR EIRI— ShHER (%

AN, FEMIFEECIRAR &, (R SURF B AN B by 38 SR B 1R 0 A b ke — 75
I, bR 7 F Ay, EaTReiRAEAL R K, 5 F 2 K By, il < AR
x T Bfk, WIH F <K < E. M F Bl B ZIAR-$8chil 2
[112k (intermediate field), [l HigLeH Al ae A —f, TR Btk
tho SLREIERPIE K, B BS@lddiR £ Ko 5—m, BT G,
E aiRg@E A HAE RN EE H, (I8 7 2 G BB, 1 HELE R aTREA
W, TR BBkl

mpEk F o8B 2B EE R KOG EN (EE ELRE Cal(E : K),
i Bk ¢ 09 B H SHRAEN B Fixg(H), &S558
Gal(E : K) Ul Fixp(H) ZBI71ESFEE ER (R, o] ARG 2 L0 N 250

GallE:K) = H (1)
Fixg(H) = K (2)
AR bRl KRR H ool BaRAS, BRAMEER K OB H (AR ER R,
BIEATRAE (2) LA (1), B (1) A (2), EREILL A (HIR0R
Gal(E - ) B Fixy, 250G A L) -
Gal(E : Fixg(H)) = H (3)
Fixp(Gal(F: K)) = K (4

s LA E iR U2 IRAZ IR EL « IEEELEAR Y th st (1) 70 (2) Byt
J#&, REZMAATE G R F o Rlecss i B Rk K RS

1
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/%ljil:%o

WIETAT R, 2 Gal(E : K) Bl Fixg(H) wie bl ER R, A B sk
R B K ZEZIGE R, (AnTLEEM, R B F 200 g, b
H K BT BB F 2R, I B K A0 FLER, Kt
R B F 20 ERAE, Cal(E : K) Bl Fixp(H) 2w e Eak ¥ R (R

HE T AR AT 20 7300 LS B, 5 (A T B £ R
WAL EIREY il Q(v3,V5) : @, FRIMCE LIbHE e i ik
BESROE1T Gal(Q(V3, V5) - ) Bl Fixg 55 HLADMEIR, DR (NRECHK
e TSR Q(V3, VE) MTUEERL FIEA -

{a—i—b\/g—l—cx/g%—d\/ﬁ:a,b,c,deQ]» (5)

AT OUFRECRE AT 256 PTG (AL TTo, LR IR b g
032 F 033 ﬁj\ﬂljaﬁﬁ% o Fi 5) :

Gal(Q(V3,V5): Q) = {I,a,8,a8}  (6)
DUFHI B i EORE A &8 E IR /3 Fn /5 B9

I(V3) = V3 I(v5) = V5
a(v3) = —V3 a(v5) = V5
B(V3) = V3 B(V5) = =5
aB(V3) = —V3 aB(v5) = —V5

FHAEE R IR ECREDY 1 BELLREE oIl Q ZRlnyrh kA S, M
B DI ATFo J8H ATEATERGS, LI e SUREHAT W {81 ML 1B
{1} {1, o, B, a8} ARG 5 LIS =AEIEVPLA-BF {1, o} {1, 8} 0 {1, 0B},
NG M BEELR S H I DEN IR

B H @M E - LRE, Bl A

Fixgs,vs({1}) = QV3,v5) (1)

Fixg. 3 5 {1, 0, 8,08}) = Q  (8)
(5 AR B T AR IR IR S B B T BOPE BT Y oRAR, sl A=
I EREZMFELL © F AR Hh CAERE, 35718 Q(v3, vh) 1 Q 2 Q
Bl Q(v/3,V5) M (M) HliE,

FORE FER R =M LB IR o BOAREIB 0 E V6 HAAE V3, 1l
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BT, o} WARENRAEFTAM o+ bv5 (HH a,b € Q) H9%, ISLEBU
B Q(v5), Tmigse Q Bl Q(v3,v/5) My S —MErs, mtMa

Fixgys.vs ({1 a}) = Q(V5)  (9)

[FBE, R g AEES L E V3 HAEE VE, ATAl {1, 5} BAE)EOE
Q(V3), 1M Q Bl Q(v3,v5) ZHIW S —felrhisk, A

Fixgs.v5 {1, 8}) =Q(V3)  (10)

Bf%, of WAREIRREREA @S V3 tiAa s V6, HAIRE V15,

=
E

i

aB(V15) = aB(vV3 x V5)
= af(V3) x af(V5)
= (—V3) x (—V5)
= V15

HE AT o8 BOAEDIEOZ Q(V15), IMisiE Q Bl Q(v3,v5) Z I 5 —1i
M, AR A

FiXQ(\/g,\/E)({L af}) = @(\/1_5) (11)

RIZLL ERYEtEm, FRMBEB Q Bl Q(v3,v/5) Z Ml AN T Hh Fil Jak

Q. Q(V3,v5). Q(v5). Q(V3) 1 Q(v15), BIE S8 R el AH B 74

Q(V3,v/5) WIMIFEELRE, SHA M BT S, Gal(Q(v/3,V5E) : Q) Ak

BEFARIHEY (6), 1M Gal(Q(v/3,v/5) : Q(v3,v5)) MIETETE, &K%

%%Rﬁlﬁ%@%&z I F¥LLQ(v3,V5) g e lE 2 A EEs, itk FqM
Gal(Q(v3,V5) : Q(V3,v5)) ={I}  (12)

SR {1, o, 3,08} F1 {I} #52 {I,a,8,a8} B (CFIL) 1Bf.

P L R H AR = bR, FRA 1R B ARl DA R A PRORD /3 E 2
AEhEEEY E [RIAE, A HRZ A HAR A FER S A, Bl A

Gal(Q(v3,V5) : Q(v3)) = {L,8}  (13)

[FIE, iR 1A o AR DAAHEAT BRI /B 1R 2y NEDBGAY F AR, 3 HIR
AHAE FR AR, M

Gal(Q(V3,v5) : Q(V5)) = {I,a}  (14)
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R, WL T A op BRI BB 15 152 REhELEY E [RIRE, If HL
AARAhEREAIEE, MG

Gal(Q(v3,v5) : Q(V15)) = {,af}  (15)

Z AT 7 AR FR G LR, miE A Q Bl Q(v/3,v/5) ZRY
TuflErp s, BRE S {1, o, 8, 0B} B RAMERE, TEISLErh il REh,
Q(v/3,v5) B {1}, Q(v/3) Bl {1, 8} Q(v/5) Bl {1, 0} Q(v/15) Bl {1, af3},
DIk Q Bl {I,cr, 3,08} 0 BlfFrE— S ERIGR, RIS fo s REE
Him@ BT (1) — (4) FORIOBETR. BRGIER, 7 (14) F1 (9) ATLAE B Rilisk
Q(V5) BIFBE {1, ) WERTHEAGAZ (1) F1 (2). 8 (9) A (14) A HAE
(14) fRA (9), #Enrfsa

Gal(Q(v3,V5) : Fixg g5 {1,0}) = {I,a}
Fixg(3.v5(Gal(Q(V3,V5) : Q(V5))) = Q(V5)

HHt e L Q(v/6) Bl {1, o} thil EaiaAg AT (3) A1 (4).

F A 25l rh R s 2 Pl e L 2 B, A T REZ b iR e A 2 BAR, TR

I S e W B MR 2R K ThaHTIE ) (Hasse diagram), B4 b4 Fuf
Hh FT Sl A TR I Hir [ G 51 e

Q(v3.V5) {I.a.8,05)

I

03 QW5 Qw1  {Lp  {la} L ob}

~J. \{L

.@.

(£ BoRmalE b, i EROE R W (I8 P Al RE < A e e S B AR, R
(AT i P AT AN D Wiy i

BEAb, SR —— 58 FE T O T e S — A R B, ) A Y
bRk, - b T RN (I O o BRI P R, YRR, 05
bk K, BLTRE H, fRAEETERIGR, MR K, BLTRE H, e
FERIR, AGH K 2 K, BTk, B H, 2 H, B9 7RE. EREIER, ik
Q(v3, V5) BLT-BE {1} GIESHERIGR, miehiisk Q(vE) Bl 7B {1,q) th
TEAESTER (%, 34 H Q(v/5) 12 Q(v/3,v/5) M9 74, ifi {1} HILE {1, o} 19 7-B¥,



B PR D S B (O U B - T o [T 36 A R 3R il 2 (1156 BT (Gaalois
correspondence), Zyalagirr o NI SUBHEEA SR ANYERGEE, BA7EALER 5 —(
Bilo S5 RFATE KRSZAMFEEL © HIFRMEY atamiiEn Q(v2,ws) : Q, K
M7E bR H e HE S MRS R A Gal(Q(V/2, w;) : -) B FiX (32,5 A0
WK, R AR SR, AL ES, #aRIk Q(V/2, ws) ATEAZ R
A

{a+bV2+c(V2)? + dws + ews(V2) + fws(V2)? 1 a,b,c,dye, f €Q}  (16)
A B g (e BCEERI AT e DL RIS (R BAEAT5E, DU ML Bb s E iy
952 %D 953 ﬁj\guai%% Y %D 5),

Gal(Q(V2,ws) : Q) = {1,7,6,6°,76,70°}  (17)

DUR A E 5 (08 BCRErh 258 B R RET /2 0w BFERT

IV2) = V2 Hws) = w3
Y(V2) = ws(V2) Y(ws) = wy®
I(V2) = w’(V2) O(ws) = wy
P(V2) = ws(V2) 0*(ws) = wy
(V2) = w(V2) Vo(ws) = w5’
10 (V2) = V2 V0% (w3) = ws?

wiE g, BB R Lo g LU B, BEE nl A TTEREE, b
I R CURE A W LB © {1} A {1,7,0,0%, 76,62} ARG 5 LUK PU{iE
FEVERTBE - {1,76%} {1,0,0°} {I,v} 1 {I,~v5}e

5 7 R WA LB, ARIRIN SF B B 1 ng PR E UK A 1] Az Al
MEEL - AFRE ) HvatEm, HAMA
FiXQ(%,wg)({[}> = @(\3/57 w3> (18)
FiXQ(%7w3)({I77a 57 527757 752}) - Q (19)
SRR Q(V/2,ws) 1 Q #E Q Bl Q(V2,ws) ZIHHY (FIL) Hlilig,
HORE @ HAARVA A JEF- LB IR ~6% BB & A A A BN

V2, HAWE wy Fl ws?, WA {I,76%} BIAENEOE Q(v2), Mmissed Q Bl
Q(V/2,w3) ZIAW S — M, A

Fixg 93,4, ({1,70°}) = Q(V2)  (20)

[FIEE, R 6 F 62 AU ARENES QL& AT AT BRSO wy, HATLE V2, WIAl
(1,6,6%) OARTNIKE Q(uws), MHEIE Q Bl Q(Y2, ws) 25—,
Ft R A

FiX@( {”/i,wg)({L 5,0%}) = Q(ws) (21)

b}
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w2, ~ M ~o E’JT@J%EE%E%T@Q V2 MAEE ws, (B y KA
WE ws (\/_ YA A A B, 22Nz

Ywi?(V2)) = (v(ws))? x ¥(V2)
= (w3”)? x w3(V2)
= w3 (\3/5)

M 78 BIARTHEEAI B oy (/2) (LUK HEREY), 582N
Y (ws(V2)) = ~d(ws) x ¥8(V2)

= w3 X ws(V2)
= Ws(\%)

FHIE TR {1, ~) BARENEE Q(ws2(V2)), {I,7} BIREIEHIIE Q(ws(V2)),
SE Rk th 2 Q B Q2. ws) o2 BT, phite 4

Fixg ys,uy ({1,7}) = Qwi’(V2))  (22)

Fixgys .y ({1.70}) = Qws(V2))  (23)

MARLL ERGT e, M Q Bl Q(V2,ws) ZMHLUN AR : Q
Q(V2,w3)~ Q(V2) Q(ws)~ Q(ws*(V/2)) M1 Q(wy(V/2)), BLTERTTHISLE [kl isk
HIEH Q(/2, wy) MMM ECEE, P & w2, Gal(Q(V2,ws) : Q)
AR BRI (17), 110 Gal(Q(V/2, ws) : Q(V/2, ws)) HIANIE] i kA
el s, 2Rt

Gal(Q(V2,ws) : Q(V2,w3)) = {I}  (24)
SRR {1,7,6,06%,76,76%} F1 {1} #:2 {1,7,0,6%,~6,v0%} B9 () FBfo

P35 E SR AR pUE b e, IR 1 A 402 B A A BEOR /2 1F
A AR A, S HRA HAh B R S AL, 2RMa

Gal(Q(V2,w3) : Q(V2)) = {I,78*}  (25)

[FIEE, A 1. 6 F0 62 A2 DA BRSO w, 15 2 ANEDESHY B RIRS, WG H
AARAhE R EAEE, G

Gal(@(\/_ W3) Q(WZ’))) = {I> 5’ 52} (26)

AN EAE ws (f) TR LT (16) EIJEI’JE?%EI’JHDJE TL/{S‘EJEH% ISR LL © K5
FRELAHO AR AR 1+ ws + ws? = 0, BMFE] ws? = —1 — w3, REME KT
w32(\‘7§) = \/i W3(f) EE”H:TE w3 (f) EEIE Q(\/> o.)3) E/‘jfl:;:%, ﬁlﬁ Q(w32(\3/§))
2 Q(V3, ws) 19 T8k
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IR, HfS 1 AT yo J2 AR A BB ws(V2) 1F 2 AEhELY F Rk, S H
AARAhE R EAEE, MG

Gal(Q(V2,ws) : Qws(V2))) = {1,748} (27)

B, HIRR TRy SRR BREORN ws?(v/2) 152 ANEVESRY E [RIAE, IfEL
RAEAME R EAIEE, A

Gal(Q(V2,w3) : Qws*(V2))) = {I,7}  (28)

I 7 S AEANED RN A i ECRE, TE3SLE kB I, Q(V/2, ws)
Bl {1}, Q(v/2) B {1, 752} @(wg) Bl {1,6,6°}. Q(ws(v/2)) Bl {1,~5}, D
K Q(ws?(v/2)) Bl {I,~4} # f**%fﬁﬁﬁf—ﬁ RIE 7N 3 A [ b fn -1
FEWE (1)—(4) FﬁTE’JE%JMO BRAIGR, 1 (26) F0 (21) B LI B A dsk
Q(ws) BB {1,6,6%) Wizt (1) 1 (2). 48 (21) /XA (26) M HH (26)
fRA (21), #En[{5E]

GmeF 5) : Fixg ., ({1,6,0°}) = {I1,6,6°}
Fixg (Gal(@h@,wz):@(wa))) = Q(ws)
FHE AT L Q(ws) B {1,6,6%) et (3) F1 (4),

IV =SV (Ll itk VAN ey < US  T]

Q(\y§ w‘s) {f,"}-‘,d. 52‘,\.5. H.-.;’SQ}

Q(V2) Quws) Qws(¥2) Qlws*(V2)) {1283} {1.0.8% (Lo} {L.9}

0 {1}

AR s/ REROAR R S AR A E, BRGIER, Rk Q(ws) i
TBE {1,6,0%} 1EEHERIGR, Mg Q BlFBE {1,,0,02,70,70%} {7
TESER R, W H Q 2 Q(ws) WITI5, M {1,562} A {1,7,6,6% ~5,70?}
M1 Bfe e FIRESEm O I, AR A (e DU ERH (R A 38R Q(V/2,ws) - Q
AT, IR EUE R A AR AR B, B2 P RN,
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